4.4
1. )  (3.4.2) ?cw«ue/\ to (6, 4,2)
‘_’% JteR s+. t(3%.1,2) = (6,4,)_)

Then 3t=6 \‘MY\‘s% t=1 , ol tz¢.
Thiy 15 tm WSSQ\?‘Q ‘

2.@' Denote 1)3 Va the vector S‘Wﬁ"'\?’f"m e DY:‘n.?l-w., + —the Pofw‘t A )
Then the equation of the Line -ﬂnvm?/k wo poiwts A avd B will be -
X =Kty = Vg +t (Vg —Vn)

(@) Va= 3.-2,4), Vg= (-5.7.1)

o, X= (3,-2,u) 4 ’c(c-m,u)—a,-zfﬂ) = (3~&e,~2+7t,4-3t)

, '3 .
3. With the Same potations above |, the Q?Mzha-n of M@ W M POM—{-S
A;B,C will be :

X= ACt,s) = Va+S(V—Va) ++ (Ve -Vy) _

(@) Va=(2,~5,-1), Vpg=(2%46), Vo= ¢3,7,1)

S0, X= (2,-5,4) +3(~2,<I,7)+-t(-3“,12,z) )

4. Fvetwr 0 st. Vx, X+0=x. Wiike 0=(a,a), a,a, eR.
We wmt have  ~x,+a, = x,
Xat0, = %,

v Xaxe € R .

gwtlﬂe Gamcv(ovﬁov\ ?Vope”-f—z mIR: avza, < o ‘



6. The dine SGmeat from (a,b) +4p (e,d)
i< PABMeten: zpd Lrg
X&) = (ab)+ ¢ ey~ La,b)B ,
The midpoing show o co§ve)3,>anp( t=

X3 = (%5, bad

21,0“0('('{«;*;5

7 Choos\kpé an Q?mer.'azée cowdfm:fe‘?ﬂswu , We Mﬂz

of the P;wa//e(oyvam is the W;'\-Z‘." i Qz'
Demote %+Lw thvee pownts bg P

Azarlo(ma +o Pkob, é )

aSSume one of the Polwts

TR Qs ted) | R (ave . b))

“the mia(point o5 the &

(a,b) amy Ce.d)
s (Q_;}C_, (”’T"() , amp(.—*l'w-f of the Dine Qe,awewf* 317;%»‘,} +L~L'P°';\+3
(a+ ) + L+ +
TS ) < (e g

So ., Yhe two dl'ajom/(/; “meet in 'dldv K’A‘%QLHVQ w\'-O('PO;nt _



